
SAP ABAP table JBIUDERIV {Transfer Structure for Derivatives}

JBIUDERIV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RFHA [CHAR (13)]

SANLF [NUMC (3)]

SFGTYP [NUMC (3)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

RMAID [CHAR (10)]

SROLEXT [CHAR (3)]

RGARANT [CHAR (10)]

RREFKONT [CHAR (8)]

RREFKONT2 [CHAR (8)]

RPORTB [CHAR (10)]

WGSCHFT [CUKY (5)]

SKALID [CHAR (2)]

SKALID2 [CHAR (2)]

OBJNR [CHAR (22)]

RLDEPO [CHAR (10)]

ABWTYP [CHAR (5)]

TBEGRU [CHAR (4)]

RCOMVALCL [NUMC (4)]

FACILITYNR [CHAR (13)]

FACILITYBUKRS [CHAR (4)]

POSACC [CHAR (10)]

RCOMVALCL2 [NUMC (4)]

RPORTB2 [CHAR (10)]

SFGZUSTT [NUMC (2)]

SFUNKTV [CHAR (4)]

SFUNKTL [CHAR (4)]

SSTOGRD [CHAR (2)]

RDEALER [CHAR (12)]

WLWAERS [CUKY (5)]

WFWAERS [CUKY (5)]

LIMITART [CHAR (2)]

LIWAERS [CUKY (5)]

SKOART [NUMC (4)]

SBKTYP [CHAR (2)]

SWHRKOND [CUKY (5)]

SZSREF [CHAR (10)]

SBERFIMA [CHAR (4)]

AT01

SANLFOR [NUMC (3)]

SFGTYP [NUMC (3)]

 JBIUDERIV-SFGTYP = AT01-SFGTYP 

0..N

0..N

AT02

SANLFOR [NUMC (3)]

SFGTYP [NUMC (3)]

SFGZUSTT [NUMC (2)]

 JBIUDERIV-SFGZUSTT = AT02-SFGZUSTT 

0..N

0..N

AT05

SANLF [NUMC (3)]

SFGTYP [NUMC (3)]

ABWTYP [CHAR (5)]

 JBIUDERIV-ABWTYP = AT05-ABWTYP 

0..N

0..N

AT08

RANTYP [CHAR (1)]

BKKLAS [CHAR (1)]

BKTYP [CHAR (2)]

 JBIUDERIV-SBKTYP = AT08-BKTYP 

0..N

0..N

AT10

MANDT [CLNT (3)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

 JBIUDERIV-SFHAART = AT10-SFHAART 

0..N

0..N

AT40

SBERFIMA [CHAR (4)]

 JBIUDERIV-SBERFIMA = AT40-SBERFIMA 

0..N

0..N

AT60

SFUNKTION [CHAR (4)]

 JBIUDERIV-SFUNKTL = AT60-SFUNKTION 

0..N

0..N

 JBIUDERIV-SFUNKTV = AT60-SFUNKTION 0..N

0..N

ATOR

MANDT [CLNT (3)]

LIMITART [CHAR (2)]

 JBIUDERIV-LIMITART = ATOR-LIMITART 
0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 JBIUDERIV-OBJNR = ONR00-OBJNR 

1..N

1

T000

MANDT [CLNT (3)]

 JBIUDERIV-MANDT = T000-MANDT 

0..N

0..N
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 JBIUDERIV-BUKRS = T001-BUKRS 

0..N

0..N

 JBIUDERIV-FACILITYBUKRS = T001-BUKRS 
0..N

1

T037S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RANTYP [CHAR (1)]

RREFKONT [CHAR (8)]

 JBIUDERIV-RREFKONT = T037S-RREFKONT 
0..N

0..N

 JBIUDERIV-RREFKONT2 = T037S-RREFKONT 0..N

0..N

T056R

MANDT [CLNT (3)]

REFERENZ [CHAR (10)]

 JBIUDERIV-SZSREF = T056R-REFERENZ 

0..N

0..N TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JBIUDERIV-LIWAERS = TCURC-WAERS 

0..N
0..N  JBIUDERIV-SWHRKOND = TCURC-WAERS 

0..N

0..N  JBIUDERIV-WGSCHFT = TCURC-WAERS 0..N

0..N  JBIUDERIV-WLWAERS = TCURC-WAERS 

0..N

0..N
TCURL

MANDT [CLNT (3)]

LWAERS [CUKY (5)]

FWAERS [CUKY (5)]

 JBIUDERIV-WFWAERS = TCURL-FWAERS 
0..N0..N

TFACD

IDENT [CHAR (2)]

 JBIUDERIV-SKALID = TFACD-IDENT 

0..N

0..N

 JBIUDERIV-SKALID2 = TFACD-IDENT 
0..N

0..N

TRBRG

MANDT [CLNT (3)]

TBEGRU [CHAR (4)]

 JBIUDERIV-TBEGRU = TRBRG-TBEGRU 

0..N

0..N

TRFT_POS_ACCOUNT

MANDT [CLNT (3)]

COMPANY_CODE [CHAR (4)]

POS_ACCOUNT [CHAR (10)]

 JBIUDERIV-POSACC = TRFT_POS_ACCOUNT-POS_ACCOUNT 

0..N

0..N

TRGC_COM_VALCL

MANDT [CLNT (3)]

COM_VAL_CLASS [NUMC (4)]

 JBIUDERIV-RCOMVALCL = TRGC_COM_VALCL-COM_VAL_CLASS 

0..N

1

 JBIUDERIV-RCOMVALCL2 = TRGC_COM_VALCL-COM_VAL_CLASS 

0..N

1

TWD01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RLDEPO [CHAR (10)]

 JBIUDERIV-RLDEPO = TWD01-RLDEPO 

0..N

{0,1}

TWPOB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RPORTB [CHAR (10)]

 JBIUDERIV-RPORTB = TWPOB-RPORTB 

0..N

0..N

 JBIUDERIV-RPORTB2 = TWPOB-RPORTB 

0..N

0..N

TZAF

SANLF [NUMC (3)]

 JBIUDERIV-SANLF = TZAF-SANLF 

0..N

0..N

TZDEA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RDEALER [CHAR (12)]

 JBIUDERIV-RDEALER = TZDEA-RDEALER 

0..N

0..N

TZK01

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SKOART [NUMC (4)]

 JBIUDERIV-SKOART = TZK01-SKOART 

0..N

0..N

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 JBIUDERIV-SGSART = TZPA-GSART 

0..N

0..N

TZST

MANDT [CLNT (3)]

SSTOGRD [CHAR (2)]

 JBIUDERIV-SSTOGRD = TZST-SSTOGRD 

0..N

0..N

VTBFHA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RFHA [CHAR (13)]

 JBIUDERIV-FACILITYNR = VTBFHA-RFHA 

0..N

0..N

 JBIUDERIV-RFHA = VTBFHA-RFHA 

0..N

0..N

VTBMA

MANDT [CLNT (3)]

RMAID [CHAR (10)]

 JBIUDERIV-RMAID = VTBMA-RMAID 

0..N

{0,1}


